

Geller Events

03/14/2023 09:00 AM | install day 1 03/15/2023 09:00 AM | install day 2 03/16/2023 09:00 AM | strike PO: Shipping Address: Hotel Bel Air Invoice Date:

Due Date: Upon Receipt

Salesperson: Leigh Carter

Description		Qtty	Price		Total
CEREMONY					
	Chandelier - York - White Flowers 43"	3	\$850.00	Т	\$2,550.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Banquettes - Pasadena - Straight 6' - Red Dupioni	2	\$300.00	T	\$600.00
	Monaco Dining Chair - White	130	\$25.00	Т	\$3,250.00
(parties	Coffee Tables - All White Carved Wood painted gold	2	\$150.00	Т	\$300.00
	Custom Kneeling Cushions in red chinese fabric; 24"x24"	4	\$85.00	Т	\$340.00
			Total CEREMONY		\$7,040.00
LAWN					
	Flat Ceiling Strips ivory sheer; 40'x90' - 5'W pieces	6	\$700.00	Т	\$4,200.00
	Perimeter Walls ivory sheer; 40'x90'x14'H	1	\$7,000.00	Т	\$7,000.00
	Perimeter Valance - 20"H inside only 40'x90' tent; off white dupioni	1	\$1,800.00	Т	\$1,800.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6'	16	\$300.00	Т	\$4,800.00
THE PERSON NAMED IN	Dining Table - Monaco - Brass Base 12' Diam only need 1/2	1	\$275.00	Т	\$275.00
	Dining Chairs - Nice - Gold Frame Dining Chair - Nice - Gold Frame - Off White Velvet	100	\$23.00	Т	\$2,300.00
			Total LAWN		\$20,375.00
PATIO					

Description		Qtty	Price		Total
	Perimeter Drape & Valance ivory dupioni; approximately 200'L	1	\$6,720.00	Т	\$6,720.00
	Walkway Ceiling, Walls & Valance ivory dupioni; walls, ceiling & double sided pullback at entrance	1	\$3,500.00	Т	\$3,500.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6' for patio	4	\$300.00	Т	\$1,200.00
	Coffee Tables - Nice - Gold	4	\$250.00	T	\$1,000.00
8	Ottomans - Beirut - Ivory Velvet	8	\$100.00	T	\$800.00
	Custom Accent Pillow ivory & gold chinese pattern	8	\$65.00	Т	\$520.00
			Total PATIO		\$13,740.00
BALLROOM					
P	Sofas - Beirut - Curvy Ivory Velvet	2	\$400.00	T	\$800.00
6	Club & Lounge Chairs - Beirut - Ivory Velvet	8	\$225.00	Т	\$1,800.00
8	Ottomans - Beirut - Ivory Velvet	10	\$100.00	Т	\$1,000.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6'	6	\$300.00	Т	\$1,800.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame	6	\$250.00	T	\$1,500.00
	Coffee Tables - Moscow - Oval Mirror Top W/ Gold Frame	2	\$250.00	Т	\$500.00
	Accent Table - Madrid - Giusti Glass Top	4	\$115.00	Т	\$460.00
	Accent Table - Madrid - Fuji Mirror Top	2	\$115.00	T	\$230.00

Description		Qtty	Price		Total
	Accent Table - Moscow - Oval Glass Top W/ Gold Cut Out Frame	6	\$115.00	Т	\$690.00
	Bars - New York - Folding 6' with custom wallpaper front & sides	2	\$1,500.00	Т	\$3,000.00
	Barback - Tokyo - Straight Basic 6' - Metal gold	2	\$275.00	T	\$550.00
	Custom Wallpaper Stage Backdrop 20'Wx10'H	5	\$1,200.00	Т	\$6,000.00
	Custom Rice Paper Panels - 10'H gold finish; (11) 8'W & (4) 4'W (cut 2 of the 8'W in half)	27	\$750.00	Т	\$20,250.00
	Stage Front - 18"-20"H white & gold	1	\$1,500.00	Т	\$1,500.00
	Custom Accent Pillows white & gold chinese pattern	14	\$65.00	Т	\$910.00
	Hand Painted Dance Floor - 22'x24' *rosendo to deliver Thursday & Sandra to paint*	1	\$2,800.00	Т	\$2,800.00
	Perimeter Drape & Pullbacks ivory dupioni; see diagram for locations	1	\$5,250.00	Т	\$5,250.00
	Perimeter Valance ivory dupioni; see diagram for locations	1	\$1,200.00	Т	\$1,200.00
		Total BALLROON		ОМ	\$50,240.00
Services					
	presentation	1	\$750.00		\$750.00
	install day 1	10	\$500.00		\$5,000.00
	install day 2	10	\$500.00		\$5,000.00
	strike	10	\$500.00		\$5,000.00
	trucking	5	\$400.00	Т	\$2,000.00
	supervisor onsite for 2 days	1	\$1,500.00		\$1,500.00
	flameproof & certs	1	\$850.00		\$850.00
	pre-production/packing/supplies	1	\$1,650.00		\$1,650.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$91,395.00

Total Labor/Services/Misc: \$21,750.00

Taxes: \$8,872.53

Discounts: (\$0.00)

Total: \$122,017.53

Payments: (\$0.00)

Balance: \$122,017.53